104

L=36m

W=3.0m

L=36m




104

04

05 04 01

04 10

04 10




104

H00100

H00200

02

K0003

Q00001




104

02 K0003
1
Y309010
1
SP210030-0001
20 m3
SP210410-0001
-13
10 m3
SP210110-0001
6.0km DID 10 m3
Y108215
1
10002
Co
1 m3
10007
Co
0 m3
SP430510-0001
15cm
39
( SP210720-0001
28 m2
10006
As
1 m3
Y500010
1
U 10001
300x 300
26
U 10008
300x 300
10
10005
500x 500
1
Y513040
1
10004
9
10003
6
Y512706
1




104

( ) 1 SQ100600-0002
40 Omm (RC-40) P40
=12cm 11 m2
( ) 2 SQ100600-0003
30 Oomm (M-30) P40
=10cm 11 m2
)1 50mm 6 SP410260-0003
(13) -1- -1
1.4m 2.35 11 m2
P0000001
HO3701
1
) H00803
1
Q00910
1
HO0600
1
Q00601
1
HO0500
1
Q00501
1
HO00400
1
Q00401
1
Q00402




104

10002
1
100 m3
3 $824010-0001
-1- -1
100 m3
( 7 SP227010-0001
-2-25-1
8.0km DID 100 m3
TZA17010002
Co [ ] P135
250
P0000001
P0000002




104

10007
2
100 m3
3 $824010-0001
-1- -1
100 m3
( 7 SP227010-0001
-2-25-1
8.0km DID 100 m3
TZA17010003
Co [ ] P135
235
P0000001
P0000002




104

10006
3 As
100 m3
8 SP227010-0002
( -2-25-1
4 _.5km DID 100 m3
TZA17010001
As P135
235
P0000001
P0000002




104

10001
4 U 300x 300
10
$821410-0001
L=4000mm 1000kg/ 1- -1
10
$821430-0003
390x 100x 600mm 1- =2
8:33
$821430-0004
390x 100x 600mm 1- =2
8:33
SP210080-0001
-1- -1
5.9 m2
L0005
40x 2x 1990
10
P0000001
P0000002




104

10008
5 U 300x 300
10
4 $821410-0001
L=4000mm 1000kg/ “1- -1
10
7 $821430-0002
40kg/ -1- =2
10
9 SP210080-0001
-1- -1
5.9 m2
L0005
40x 2x 1990
10
P0000001
P0000002




104

10005
6 500% 500
1
C ) 10 SP222950-0001
0.38m3 0.40m3 o- .45
18-8-25(20)  60% (
L0004
607*607*55 T-20
9  SP210080-0001
-1- -1
81 m2
P0000001
P0000002




104

10004
7
10
8 $810770-0001
-2- -20
3 10
9 $810760-0001
50m -2- -19
1.5 10
P0000001
P0000002

10




104

10003
8
10
L0002
350%190*120
134:98
11 SP240060-0002
1:3 4- -1
0:i15 m3
( 10t 10  $810010-0001
( -2- =2
10% ( ) SD-295 D10mm 0:006
12 SP226170-0001
2- -1
18-8-25(20) « ) 1:28 m3
9  SP210080-0001
-1- -1
65 m2
( ) 11 $810770-0002
-2- =20
1 10
( ) 12 $810760-0002
-2- -19
1 100m 10
P0000001
P0000002

11




104

$Q100600-0002
1 ( ) 40 Omm (RC-40)

( =12cm , )

( P40 , ) 100 m2

TR0102
P1

T2002122003
RC-40 P5
15;24 m3

$917623-0001
60 80kg

23000004

P0000001

P0000002

[ 1
[A] = 12.000 cm [B] = 7 40 Omm (RC-40)

12




104

SQ100600-0003
2 ( ) 30 Omm (M-30)
( =10cm , )
( P40 , ) 100 m2

TR0102
P1

TZ002124002
M-30 P5
12;7 m3

$917623-0001
60 80kg

23000004

P0000001

P0000002

[ 1
[A] = 10.000 cm [B] = 8 30 Omm (M-30)

13




104

$824010-0001

3
( , )
( -1- -1 , ) 1 m3
TQ001611007
( ) P16
1 m3
23000004
1
P0O000001
P0000002
1
[Al= 2 Bl1=1
[cl1= 3 [0] = 2
[E]= 1

14




104

$821410-0001

4 L=4000mm 1000kg/
, )
-1- -1 , ) 10
u TQ001365003
L2000 1000kg ( ) P16
10
(120x 150) TZA04020002
(4-30) 300x  300x 4000 P32
2i5
72002122003
RC-40 P5
0.684) m3
Z3000004
1
P0000001
P0000002
[ 1
[A]=1 [B] = 3 L=1.0m 4.0m 5.0m L=4,000mm
[Cl1= 2 [D] = 55 U
[E] = 3 L=2000mm 1000kg/ [Fl1=3
[c1=1 M= 1
[11=5 40 0 [J] = 0.570 m3
[K] = 2.500

15



104

390% 100x 600mm

$821430-0003

170kg

TQ001367002
( )Pis

390x 100x 600mm

TZA04150023
P35

23000004

P0000001

P0000002

[ 1
[A]= 1 [B] = 21 390x 100x 600mM
[c]= 2 40 170kg/ [0] = 3
[E]l= 2 [Fl=1

16




104

390% 100x 600mm

$821430-0004

170kg

TQ001367002
( )Pis

390x 100x 600mm

TZA04150024
P35

23000004

P0000001

P0000002

[ 1
[A]= 1 [B] = 22 390x 100x 600mM
[c]= 2 40 170kg/ [0] = 3
[E]l= 2 [Fl=1

17




104

$821430-0002

7 40kg/
( ,
( -1- -2 , ) 1
TQ001367001
40kg ( )P
1
L0003
995*390*100 T-20
1
23000004
1
P0O000001
P0000002
[ 1
[A] = 1 [B] = 32
[€]=1 40kg/ [0] = 3
[E]l= 2 [Fl=1

18




104

$810770-0001

8 ( )
( 3
( -2- -20 ) 1
TQO01164004
- ( )2
) 1
( 73000004
1
P0000001
P0000002
1
[A] = 1 [B] = 4 3
[€1=1 [b]1=1

19




104

$810760-0001

9 ) 50m
1.5
-2- -19 1
TQ001150004
- ( ) P22
L0001
Z3000004
P0000001
P0000002
1
[A]= 1 [B] = 2 1.5
[C]=1 [P] = 3 50
[E]= 1 [F1=1
[G] = 0.000

20




104

$810010-0001

10 ( ) 10t )
0% ( ) ,SD-295 DL0mm
2- 22 1
TQ001001002
( )P19
( ) 1
TZA03010044
SD295 D10 Gt ) P12
1.03
73000004
1
P0000001
P0000002
1
[A] = 1 SD-295 D10mm [vi] = 1
M = 1 [B] = 2 10t
[c1=1 k1= 1
[E]= 1 [Fl=1 0% ( )
[c1=1

21




104

$810770-0002

11 )
1
-2- -20 1
TQ001166004
- ( ) P22
73000004
P0000001
P0000002
1
[Al= 2 [B] = 1
[c1=1 1= 1

22




104

$810760-0002

12 )
1 100m
-2- -19 1
TQ001154004
- ( ) P22
L0001
73000004
P0000001
P0000002
1
[Al= 2 [B] = 1 1
[€]=3 [0] = 4 10
[E1=1 [Fl1=1
[G] = 0.000

23




104

SP210030-0001

1 m3

()

0.28m3(  0.2m3)

TM502003121
p2-12

TRO114
P1

TRO102
P1

1.2

TZ006702002
P106

[31] = 1

2]

[J5] = 1

24




104

SP210410-0001

1 m3

()

0.28m3(

0.2m3)

TM502003121
p2-12

60 80kg

TM10800612
P2-69

TRO102
P1

TRO101
P1

TRO114
P1

1.2

TZ006702002
P106

TZ006704001
P106

[J1] = 5

2]

"
=

[94] = 1

25




104

SP210110-0001

0.28m3(  0.2m3)
(6.0km ) ) 1 m3
( -1- -1 )
) (D)
TM103000221
p2-19
( TRO115
P1
TZ006702002
1.2 P106
1
[J1] = 2 [321 = 0.28m3(  0.2m3)
[33] = 1 ( [34] = DID DID
[J] = 8 6.0km

26




104

15cm

SP430510-0001

()

@ 56¢m 20cm

TM11001212
P2-83

TRO101
P1

TRO125
P1

TR0102
P1

22

TZ006540003
P107

TZ006704001
P106

[J11 = 1
[35] = 1

2]

15cm

27




104

SP210720-0001

1 m2

()

12
0.13m3( 0.10m3)

TM502000521
p2-7

TRO114
P1

1.2

TZ006702002
P106

[J11 =1

28




104

50mm

13)

2.35)

SP410260-0003

1 m2

()

0.5 0.6

TM10800412
p2-67

[ 1
40 60kg

TM10800712
P2-69

)

TRO101
P1

TR0102
P1

TRO125
P1

13)

Tz004100004
P46

PK-3

TZ004130002
P49

TZ006704001
P106

1.2

2]
[A1]
[J6]

50.000 mm 1
2 13)

[J1]
[34]

1l
w =

1.4m

K-3

TZ006702002
P106

50mm

29




104

SP227010-0001

)
(8.0km ) 1 m3
( -2-25-1 )
) (D)
TM103000521
10 P2-19
«C D TRO115
P1
TZ006702002
1.2 P106
[ 1
1] =2 ( 2] =
[J3]1 =1 DID DID [JE] = 8.0km
[J]=1

30



104

SP227010-0002
8 (
(4.5km DID , ) 1 m3
( -2-25-1 , )
) (D)
TM103000121
p2-19
«C D TRO115
P1
TZ006702002
1.2 P106
[ 1
[J1] = 3 [32] = 4
[J3]1 =1 DID DID [c1=7 4.5km
[3J] =1

31



104

SP210080-0001

1 m2

()

TR0102
P1

32




104

SP222950-0001
10 « ) 0.38m3 0.40m3
(18-8-25(20)  60% , «C ) ) 1
( -2- -45 , )

() ()

( 1 TL001010007
0.8m3(  0.6m3) P124

TRO133
P1

TRO102
P1

TRO125
P1

TRO101
P1

72002012001
18-8-25(20) 60% P27

TZ006702002
1.2 P106

[ 1
[N1] = 17 18-8-25(20) W/C60% [J2]
[34] =2 [33]
N3] =1 [N4]

10 1 0.38m3 0.40m3
)

1]
[any
~

33




104

SP240060-0002

11 1:3
1 m3
-4- -1
(D) ()
TR0102
P1
T2002002006
25kg P26
TZ002104002
P3
1
[J1]1 =1 [J2] =
[J3] =1

34




104

12

_2-

(18-8-25(20)

-1

SP226170-0001

1 m3

()

()

(
0.8m3(

)
0.6m3)2.9t

TL001010004
P125

(
0.8m3(

)
0.6m3)

TL001010007
P124

TRO133
P1

TR0102
P1

TRO125
P1

TRO101
P1

18-8-25(20)

TZA04220150
P26

1.2

TZ006702002
P106

] = 4
[2] = 1
V] = 1

18-8-25(20)

[35]

N3] =

nln
[N P

35




104

L0001

L0002
350*190*120

L0003
995*390*100 T-20

L0004
607*607*55 T-20

L0005

40x 2x 1990

36




i Vk'/ .I'Q
OQOGQ ..Z -I




B B E X
IEXS| T & iE bl #H bl 537} % o I D =

(LEVEL1) | (LEVEL?) (LEVEL3) (LEVEL4) (LEVEL5) oz | S| mEtsE |\ wauE | f 2

ERWE| ERLT fEE+T k1R +# md | 10 | 241 20

BRL R4+ m3] 10 | 85 10

BHAET Bt m3] 10 | 14.6 10

EewuET [BEMEUE LT 2vry_ imsmmzns i m3 1 1.2 1

i3 m3lo01] 027 ] 03

A2 iR U t=15cmL T m 1 39. 1 39

At BBl t=15cmLl m | 1] 279 08

BREHE AL S AsEE# m3]01] 1.3 | 14

Bk T T ERUBAIE 300 x 300 m | 1 | 260 26

300%300, #L—F>4 | m 1 10.0 10

ST || A&k 1500 %500 |1 1.0 1

PHEEM T | BHEEMEIHT | A 558 EYER m 1 9.0 9
"""""""""""""""""""""""""""""""""""""" S0 VAN 7/ A By B Iy R

EHEREEEY | 390x190%120 | m | 1 5.6 6
"""""""""""""""""""""""""" THEERCARRCAYCT T T T

SHEET SREEAT NES t=12cm m? | 1 11. 4 11
""""""""""""""""""""""""""""""""""" 7 | O R N I I

B t=10cm m? | 1 11. 4 11
""""""""""""""""""""""""""""""""" 587 SO D N Y

=B t=bcm m? | 1 11. 4 11




= 2 5
S 5 B =
I & A
B K LT T fEELTT - RETNEBT
( LRJIL2) (LRI )
B HEstEE SR
2. K (E® )
......................................................................... ]
V= 2278 + 129 24 07
2. BR L (&4EL)
......................................................................... ]
V= 7.9 + 057 = 8.49
4. Bt
.................................................... R B
V= 2407 - 943 = 14.64
O BRLAfEEE (MLE )
Y = = S
V = 2407 24 07
O HELIMKWELE
Y --1--= = S
V= 849 8.49
DELE (HILE) V= 849 x 1,090 (£=0090) = 943




ERTT

fEELT ( BRI ) at " =
A R N RETE R T fkrEE I A K
i _ _ " &
x5 5 T | Y T e
BP 0.62 |
________________________ 10.000 | . 0. 64 6. 40
+ 10.000 | . 0.66 |
________________________ 10.000 | . 0. 64 6. 40
No. 0.6 |
________________________ 10.000 | . 0.62 6.20
+ 10.000 | . 0.63 |
________________________ 6.000 | .. . 0.63 3.78
EP 0.63 |
________________________ 36.000 | . &ET 22. 78




ERTT

fEELT (#ERL) At ﬁ %
A R N RETE R T fkrEE I A K
i _ _ " &
x5 5 T | Y T e
BP 0.22 |
________________________ 10.000 | . 0. 21 2.10
+ 10.000 | . 019
________________________ 10.000 | . 0.22 2.20
No. 0.24 |
________________________ 10.000 | . 0.23 2.30
+ 10.000 | . 0.22 |
________________________ 6.000 | .. . 0.22 1.32
EP 0.22 |
________________________ 36.000 | . &ET /.92




I it ' £

£ MR UBL RSB TR 3B 1.0 %X &Y
+ TR
. |
S1—
g Al p S = =X ¥ =3
PRIYE i A 1.40 * 0.91 + 0.90 * 0.10 136 m
1.36 * 1. 10 1.50  m
RS (BEEE ) (BETHESR) 0. 21 m
A&t .29 m
HEL W 5 0.64 * 0.30 0.19 m

0.19 * (0.80 + 1.40 + 0.80 )

0.57 m




A R

I & E 5l

BEYRETL BEYERIZELT
( LRJL2) (LRI )

1) BRJ0v I RUER L = 5. 60 + 0.50 = .10 m
............................................................................... L S
V = 6.10 X 0.20 = 1.22 m®

DEEEDS V = (0. 65%0. 65%0. 85) - (0. 45%0. 45%0. 75) = 021 md

V = 0. 21 X 15 = 021 md

2) Bty s U—+ A = (0.90%0.90) - (0.45%0. 45) = 0.61 ni
................................................................................ 1 S

V = 0. 61 X 0.10 = 006 md

z = 027 md

A 1 -1 W - 71 I ¢ 1O N

1) A& L = 36. 00 + 0.87 = 36.87 m

2) EEKHER L = = 220 m

z = 39.07 m

4. AsEHERMERR: (t=15cmlAF)

1) BIEER A = (RIFESHEE L Y) = 27.22 m
................................................................................ BT e

V = 27.22 X 0. 05 = 1.36 m®

2) EEKHE A = 2.20 X 0.30 = 0.66 ni
................................................................................ BT e

V = 0. 66 X 0. 05 = 003 md




V = = 1.22 m®
............................................................................ R B e
rEE5H) 1.22 X 2.50  (t/m3) = 287 t

V = = 027 md
............................................................................ R B e
rE45H) 0.27 X 2.50  (t/m3) = 0.64 t
9. FHEHRIS  (AsEE#)
V = = 1.39 m®
HUKEES

nEEE) 1.39 X 235  (t/m3) = 3.28 t




BEHMET

= ﬁ =
. A =
As & 2% hig B
pil =T N HHFEE— | T S| == .
BB B _ B _ 1% E
EiS 5 & B % 18 B A OXK
gp .8 1
________________________ 10.000 | ... 0.87 8. 70
+10.000 | .8 1
________________________ 10.000 | .. 0.72 7. 20
N, o.5 1
________________________ 10.000 | .. 0.6/ 6. 70
+10.000 | o7 1
________________________ 6.000 | 0.77 4. 62
| I o7 1
36. 000 &5t 27. 22




5 = I =
T = B 5

& T s
(LARL2) ek (LAL3) PHEEMEIRT

B RN E  BrEMEEN S8R




M o# i ' F

EHPEE (220 )—+TAVY)

10.0m=zY

BERAaVIY—LTOvs (390x190 x 120)

BB (D10)

50

400 50

100 400

(RG-40, t=10cm)

EJLZILFEE 0.015m3/m
#HsREkEr 0. 56kg/m

Al ]RoOO® " =X # =2
BESEF1vY-47 0ys 390X 190 % 120 N =100/ 00741 134.95 &
R % D10 W= 056=%100 5.60 kg
EILZIILFE V = 0.015%10.0 0.15  m3
E@o o )—h 18-8-25 V = ((0.15 % 0.45)+(0.40 * 0.15)) * 10.0 .28 m3
ERRA RC-40 A= 065100 6.50 ni
EmEF A= 0.65x*100 6.50 ni

XK -p oy A Y EE

0.39 * 0.19 = 0. 0741




B 5 B =

T & ) B 3

( LRJIL2) (LRI )




HET

TERE

B 5 =1 =
HEEIRT =B
Al =) N HEE— | T | A
BB A _ _ w &
' &5 ' A Hie A oA K
A 0% | 4
________________________ 10.000 | 0.30 300 | ]
+10.000 | €% | 4
________________________ 10.000 | 0.30 300 | ]
N 0% | 4
________________________ 10.000 | 0.30 300 | ]
+10.000 | 0% | 4
________________________ 6.000 | 0.30 .80 |
S €% | 4
36. 000 &Et 10. 80




4 K T ¢ B =
% S E R 1.0 =% %y
300
SETmBERIEE A=0.57m
&
' A BOO® -} - 5 g
TR t=12cm A= (1.1%x11)-(08x%08) = 0.57 m
ERE t=10cm A= (1.1*x11)-(08%*08) = 0. 57 m
xE t=bcm A= (1.1*x1.1)-(0.8%0.8) = 0. 57 m




B @ #

T = & 7l

(LAn2) PR EN T s BT - ST




M o# i ' F

% R FERUEAIE (E@/A. 300x300, a4 )—+hE) 10.0m Ky
129 300 ‘150
. é =
HEY—k J % o
o)
o
670 EWBE (RC-40, t=10cm)
| \
ic3 il b5l % g = # =
ERURAEE 300 x 300 L =100/40 2.50 X
HEZ= 600X 390 X 100, E&E N=100/06/20 8.33 &
HEZ= 600X 390 X 100, #Aft N=100/06/20 8.33
HE®RO RC-40 A= 0.67 *10.0 .70 m
HEEIE A= 0.67 *10.0 .70 m
BEY—hk 40 % 2% 1990 N = 10.00 &




o B ' E
% R ERUEAIE (E@/A. 300x3000 yL—F>4) 10.0m Ky
12q 300 ‘150
s é 0 3
HE—Fk J % ey
o1
o
670 HBEBE (RC-40, t=10cm)
\
ic3 il b5l % =1 = # =
UZLAIE 300 x 300 L =100/40 2.50 X
SL—F >4 [995%x390% 100, T-20 N = 10.00 %
HBwA RC-40 A= 0.67 *10.0 6.70 m
HEEIE A= 0.67 *10.0 .70 m
BhEY—k 40 X 2 %1990 N = 10.00 &




M OB B OB ZF
% o RIGHT b &K 1.0 & By
gL—F9
607 x 607 x 55, T-20, #
0(}) 600 19y ( ME)
500
o
o Lo
~ | o
D
1
\L)j) g
R
900 Eﬁgﬁﬁ-‘?ﬁ (RC-40, t=10cm)
Boa G =1 = # =1
avsy—k L = (0.80 * 0.80 * 0.905) -
(0.50 * 0.50 * 0.755) 0039 m?®
pity e A= (0.80 % 0.90 * 4) + (0.50 * 0.70 x 4) 4.28 m
SL—F>4 | 500x5008 T-20 N= (ZHEE) 1.00  #A
HBwA RC-40 A= 0.9%009 0. 81 m
HEEIF A= 0.9%0.09 0. 81 m
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